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slug3: reg_asym_usr.mean/ppb 1D pull distribution
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slug3: reg_asym_dsl.mean/ppb
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SI u gS : asym_d SI .mean / pp b_ reg_asym_d SI .mean / ppb slug3: 1D Corr asym_dsl.mean/ppb-reg_asym_dsl.meanfppb
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slug3: reg_asym_dsr.mean/ppb 1D pull distribution
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slug3: reg_asym_left_dd.mean/ppb
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slug3: reg_asym_right_dd.mean/ppb 1D pull distribution
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slug3: reg_asym_us_dd.mean/ppb 1D pull distribution
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S | u g 3: asym_u s_d d .mean / p p b_ reg_asym_u s_d d .mean / p p b slug3: 1D Corr asym_us_dd.mean/ppb-reg_asym_us._dd.mean/ppb
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slug3: reg_asym_ds_avg.mean/ppb 1D pull distribution
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1D pull distribution

0.01375 + 0.1523

Mean

0.9262 + 0.1077

Std Dev

Underflow
Overflow

9.981/7

X2/ ndf

3.763 £ 1.104

Constant

0.07141+ 0.37500

Mean

Sigma

1.312 +£0.519

—

ol

31.74/ 36

X2/ ndf

+2.62

o

~

[Tg)

<

-1.55

slug3: diff_bpm4aX.mean/nm




slug3: diff_bpm4aX.rms/nm

.........................................
.........................................

.........................................

_ LLI .._.._.._.._ ........... #_____I

0

[ 111
B 3 3

€'eove
2'eove
T'eove
0'cove
L'cove
9'cove
geove
¥'eove
€e0ve
2'eove
Tcove
0'cove
S'T0VE
7' 10v€
€ Tove
¢'Tove
T'T0v€
0'T0VE
8'00v¢
L°00vE
9'00v¢€
S'00vE
7'oove
€'00ve
¢'oove
T'oove
0'00ve
8'66€€
L'66E€
9'66€E
§'66€€
¥7'66€E
£'66€€
2'66€E€
T'66€E
o.mmmm
o.wmmm



slug3: diff_bpm4aY.mean/nm

X2/ ndf

30.16/ 36

-100

-150

-200

7.036 +4.183

1D pull distribution

Mean  -0.008593 + 0.1484
7 T Std Dev 0.9028 + 0.1049
B Underflow 0
6 __ Overflow 0
L X2 ndf 3.359/6
S Constant 5.64 % 2.01
F Mean 0.1194 + 0.2437
A )
L Sigma 1.091+ 0.559
3 —
2 —
1_
C-""" b bl alag
-8 -6 -4 -2 0 2 4 6 8




slug3: diff_bpm4aY.rms/nm

€'eove
2'eove
T'eove
0'cove
L'cove
9'cove
geove
¥'eove
€e0ve
2'eove
Tcove
0'cove
S'T0VE
7' 10v€
€ Tove
¢'Tove
T'T0v€
0'T0VE
8'00v¢
L°00vE
9'00v¢€
S'00vE
7'oove
€'00ve
¢'oove
T'oove
0'00ve
8'66€€
L'66E€
9'66€E
§'66€€
¥7'66€E
£'66€€
2'66€E€
T'66€E
0'66€€
0'86€€




200

100

-100

-200

slug3: diff_bpm4eX.mean/nm

X2/ ndf

p0O

26.32/36

1D pull distribution

-32.98 *+ 16.26

3398.0
3399.6
3400.8| *

3402.0
3402.2

=

Mean

Std Dev

X2/ ndf

Constant

Mean

Sigma

-0.001925 + 0.1387

Underflow

Overflow

-0.03014 + 0.18218

-2 0 2

4 6

0.8434 + 0.09804

1.145/7

6.217 + 1.456

0.9533 + 0.1926




slug3: diff_bpm4eX.rms/nm

1(53.19

.

102.68

€'eove
2'eove
T'eove
0'cove
L'cove
9'cove
geove
¥'eove
€e0ve
2'eove
Tcove
0'cove
S'T0VE
7' 10v€
€ Tove
¢'Tove
T'T0v€
0'T0VE
8'00v¢
L°00vE
9'00v¢€
S'00vE
7'oove
€'00ve
¢'oove
T'oove
0'00ve
8'66€€
L'66E€
9'66€E
§'66€€
¥7'66€E
£'66€€
2'66€E€
T'66€E
0'66€€
0'86€€

11500

o

1100

o

1050

o
o
o
o
—




slug3: diff_bpm4eY.mean/nm 1D pull distribution
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slug3: diff_bpm12X.mean/nm 1D pull distribution
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